Germination responses of Mediterranean populations of Cakile maritima to light, salinity and temperature

Silvia Del Vecchio, Marco Porceddu, Edy Fantinato, Alicia T. R. Acosta, Gabriella Buffa & Gianluigi Bacchetta

Folia Geobotanica

Journal of the Institute of Botany, Academy of Sciences of the Czech Republic

ISSN 1211-9520

Folia Geobot DOI 10.1007/s12224-018-9332-5



D Springer

41/2 2006 INSTITUTE OF BOTANY THE CZECH ACADEMY OF SCIENCES



Your article is protected by copyright and all rights are held exclusively by Institute of Botany, Academy of Sciences of the Czech Republic. This e-offprint is for personal use only and shall not be self-archived in electronic repositories. If you wish to self-archive your article, please use the accepted manuscript version for posting on your own website. You may further deposit the accepted manuscript version in any repository, provided it is only made publicly available 12 months after official publication or later and provided acknowledgement is given to the original source of publication and a link is inserted to the published article on Springer's website. The link must be accompanied by the following text: "The final publication is available at link.springer.com".





Germination responses of Mediterranean populations of *Cakile maritima* to light, salinity and temperature

Silvia Del Vecchio · Marco Porceddu D · Edy Fantinato · Alicia T. R. Acosta · Gabriella Buffa · Gianluigi Bacchetta

Received: 7 August 2018 / Accepted: 24 November 2018 © Institute of Botany, Academy of Sciences of the Czech Republic 2019

Abstract Soil salinity is among the main factors influencing seed germination in coastal dunes, acting as a major determinant of species establishment and growth. Tolerance to salinity during the germination process is crucial especially for species of the drift line, which are exposed to high levels. *Cakile maritima* is an annual species of coastal dunes which can suffer from the effects of salt-spray and seawater inundation. We investigated the effect of light, temperature and salinity on seed germination of *C. maritima* in three populations of the Mediterranean Basin (central Italy, Sardinia and Mallorca). Results showed higher germination

Electronic supplementary material The online version of this article (https://doi.org/10.1007/s12224-018-9332-5) contains supplementary material, which is available to authorized users.

S. Del Vecchio · E. Fantinato · G. Buffa Department of Environmental Sciences, Informatics and Statistics, Ca' Foscari University of Venice, Via Torino 155, 30172 Venice, Italy

M. Porceddu (🖾) · G. Bacchetta Sardinian Germplasm Bank (BG-SAR), Hortus Botanicus Karalitanus (HBK), University of Cagliari, Viale S. Ignazio da Laconi, 9–11, 09123 Cagliari, Italy e-mail: porceddu.marco@unica.it

M. Porceddu · G. Bacchetta

Centre for the Conservation of Biodiversity (CCB), Life and Environmental Sciences Department, University of Cagliari, Viale S. Ignazio da Laconi 11–13, 09123 Cagliari, Italy

A. T. R. Acosta Department of Science, University of Rome 3, viale Marconi 446, 00146 Rome, Italy percentage in the dark, although the species was only weekly photoinhibited. Germination increased at 25°C and decreased under NaCl conditions. Exposure to NaCl increased mortality, especially at high temperature, suggesting a toxic effect on seeds. However, the response to salinity differed between populations, seemingly depending on the degree of aridity of collection sites: seeds from Sardinia (the most arid collection site) were the most salt-tolerant, while seeds from Mallorca (with the highest values of precipitation, especially in spring), were the least salt-tolerant. These germination patterns suggest that although being under the same macroclimate conditions, beach populations can be subjected to local conditions, such as aridity, influencing population responses at fine scale. In the context of global climate change, the investigation of germination under varying environmental factors can provide important information for understanding population dynamics, predicting the response of species to climate change and setting restoration plans.

Keywords Coastal dunes \cdot NaCl toxicity \cdot Population variability \cdot Salt stress \cdot Seed mortality

Introduction

Coastal dunes are harsh environments for the establishment and survival of plant species because of intense wind, salt-spray, occasional inundation by seawater and sand movement (Ripley and Pammenter 2008; Cogoni et al. 2013; Pinna et al. 2014; Del Vecchio et al. 2016). In particular, one limiting factor for species establishment and growth is represented by substrate salinity, which often affects seed germination and seedling development (Baskin and Baskin 2014; Murru et al. 2017; Santo et al. 2017).

Salinity can affect germination kinetics, delaying and slowing down the germination process, already at low concentration (100 mM; Delgado Fernández et al. 2016; Manzoor et al. 2017; Muñoz-Rodríguez et al. 2017; Santo et al. 2017). Germination usually decreases as salinity increases (Baskin and Baskin 2014). Salinity can also inhibit and suppress germination, although the intensity of the effect varies across species. Germination can be totally suppressed at higher NaCl concentrations (300-400 mM; Atia et al. 2011; Santo et al. 2014; Delgado Fernández et al. 2016), but saltmarsh halophytes can germinate up to NaCl 600 mM or 1 M (Gul et al. 2013; Muñoz-Rodríguez et al. 2017). As far as seed viability is concerned, contrasting effects have been observed. Many studies documented that high saline condition only induced secondary dormancy, as non-germinated seeds remained viable, showing complete germination recovery upon salt stress removal, or appearing viable when cut opened (e.g. Del Vecchio et al. 2012, 2013; Murru et al. 2017; Debez et al. 2018). In some halophytes, salinity exposure can even promote germination recovery (Muñoz-Rodríguez et al. 2017). In other cases, NaCl has been reported as having an irreversible effect, causing seed mortality (Saeed et al. 2011; Santo et al. 2014, 2017). However, research suggests that the effects of NaCl on seed germination depend on the species, the salt concentration, and on the interaction with several other factors such as photoperiod and temperature (Delgado Fernández et al. 2016; Murru et al. 2017; Santo et al. 2017). In particular, the toxic effect of NaCl often increases at increasing temperature (El-Keblawy and Al-Shamsi 2008; Manzoor et al. 2017; Santo et al. 2017).

The response to salinity can also vary among populations of the same species (e.g. Megdiche et al. 2007; Ghars et al. 2009; Del Vecchio et al. 2012; Santo et al. 2014, 2017). At equal concentrations of NaCl, in the range of 100–200 mM, seeds of the same species belonging to different populations showed different germination percentages. However, at higher concentrations of NaCl (400–600 mM), germination was completely inhibited regardless of the seeds' population of origin (Megdiche et al. 2007; Ghars et al. 2009; Santo et al. 2014, 2017).

Although variable depending on such environmental factors as temperature and precipitation regime (Sevink 1991), in coastal dunes the highest values of substrate salinity are normally found in the upper beach, where they can be higher than seawater concentration (Fenu et al. 2013a; Geng et al. 2016). The interaction between salinity and other environmental factors is still an open research line that needs further investigation. Thus, given the vulnerable status of coastal habitats, investigating the effect of salinity on seed germination is particularly important for those species that grow close to the coastline, i.e. the species of the drift line, which are exposed to high salt concentrations. Tolerance to salinity during the germination process is crucial especially for those species which rely on seeds for reproduction and undergo high demographic variability over time, like annual species (Fenu et al. 2013b; Huang et al. 2016).

Cakile maritima Scop. (Brassicaceae) is an annual species widely distributed in Europe, North Africa, Southwest Asia, and introduced to North America, South America and Southern Australia (Davy et al. 2006). It is a pioneer halo-nitrophilous species which grows very close to the coastline, with an average distance from the sea of 30 m (Bazzichetto et al. 2016; Silan et al. 2017). In such position, the species grows in presence of high organic matter content due to wrack deposition and has to face high salinity levels in the substrate as well as in the form of salt spray (Maun 2009). Although its growth at vegetative stage and seed production are enhanced at moderate salinity (NaCl 50-100 mM; Davy et al. 2006; Debez et al. 2006, 2012), this species is salt-sensitive during the germination phase (Debez et al. 2004, 2008, 2018; Megdiche et al. 2007; Ghars et al. 2009). While the ecology of the species has been investigated in depth (Davy et al. 2006; Megdiche et al. 2008; Debez et al. 2013; Ben Hamed-Laouti et al. 2016; Houmani and Corpas 2016; Belghith et al. 2018), the response to salinity has been mainly analysed for Tunisian populations (Debez et al. 2004, 2008, 2012, 2018; Megdiche et al. 2007; Ghars et al. 2009), while other areas of the Mediterranean Basin received less attention. Moreover, the interaction with other environmental factors such as temperature and salinity has often been overlooked, except for England, where GA₃-treated seeds were found to be less sensitive to salinity at the optimal germination temperature of 20°C (Ignaciuk and Lee 1980). Furthermore, although some authors found that C. maritima is strongly photoinhibited (Barbour 1970; Thanos et al. 1991; Sacheti 1998), the effect of light on the species and its interaction with temperature has been poorly investigated.

In light of these facts, the aim of this work was to investigate the response of *C. maritima* to light, temperature and salinity, and their interaction. To account for inter-population variability, we compared the behaviour of seeds coming from three different areas of the Mediterranean Basin.

Materials and methods

Seeds collection and climatic features of study sites

Seeds were collected in three sites of the Mediterranean Basin. In detail, collection sites were located along the coasts of central Italy (Torre Flavia; latitude: 41.96171366°; longitude: 12.04590248°), Sardinia (Chia: latitude: 38.88480112°; longitude: 8.86153572°) and Mallorca (Son Serra de Marina; latitude: 39.72858445°; longitude: 3.24261801°). Monthly values of temperature and precipitation (extracted from WorldClim, 1-km resolution grid; Fick and Hijmans 2017) evidenced that all the three sites have a typical Mediterranean climate with hot and dry summer and mild and rainy winter. However, Sardinia has the longest period of summer aridity (from mid-March to mid-October) whereas Mallorca has the shortest. Moreover, Mallorca is characterized by high precipitation values after winter and summer, with especially high values in spring, compared to the other sites. Central Italy shows intermediate features between the other sites. Analyses of temperature and precipitation values, and termopluvimetric diagrams for each site are provided in the Electronic Supplementary Material.

In each population, seeds were collected from approximately 80 randomly selected plants at the time of natural dispersal (in August), from both the upper and lower segment of the fruit. Afterwards, seeds were mixed and manually cleaned. To enable equal conditions for seeds collected in different regions, seeds were after-ripened for 90 days at room temperature (20°C and 40% relative humidity) before the experiments started.

Light and temperature requirements

To detect the best conditions for the germination of *C. maritima*, we tested the effect of temperature and

light on the most abundant seed collection (central Italy). Germination tests were carried out at the Sardinian Germplasm Bank (BG-SAR) of the University of Cagliari (Italy). Four replicates of 20 seeds each were sown in Petri dishes, on 1% water agar. Seeds were incubated in growth chambers (Sanyo MLR-351, SANYO Electric Co., Ltd) at a range of constant temperatures (10, 15, 20 and 25°C), in the light (12 h irradiance per day, provided by white fluorescent lamp FL40SS.W/37 70- $10 \,\mu\text{mol}\cdot\text{m}^{-2}\cdot\text{s}^{-1}$) and in the dark (achieved by wrapping the dishes in two layers of aluminum foil). In the light treatment, germinated seeds were counted and removed at alternate days, while, in the dark, seeds were scored only once, at the end of the experiment, to avoid any exposure to light. The tests were ended when no additional germination occurred for 15 days, after a minimum of one month and a maximum of two months and a half from sowing. Seed viability was assessed through the cut test (Oöi et al. 2004; FAO 2014). At the end of the tests, non-germinated seeds were cut and classified as apparently viable (with firm and white embryo; hereafter 'imbibed seeds') or dead (when they collapsed if pinched gently or had grey/brownish embryo). Empty seeds were not found. Thus, the percentage of germinated, imbibed and dead seeds was calculated on the number of total seeds in each Petri dish.

The results achieved in this experiment were used to set light and temperature regimes of the next experiments, to test the effect of NaCl on seed germination and the variability among populations.

Moreover, to analyse the response to light, we calculated the 'photoinhibition of seed germination index' (Pi; Carta et al. 2017) according to the formula:

$$Pi = (GD - GL)/GD,$$

where GD and GL represent the final germination percentage in the dark and light, respectively. Pi varies between 0 and 1, with 0 corresponding to equivalent germination percentages in light and darkness, and 1 to germination occurring only in darkness.

Interaction of NaCl and temperature

The interaction of salinity and temperature was first analysed on the most abundant seed collections (central Italy), incubating seeds at the same temperatures (10, 15, 20 and 25° C), in the dark. Four replicates of 20 seeds

each were sown in Petri dish, on 1% water agar with increasing NaCl solutions (0 mM, 125 mM and 250 mM). NaCl concentrations were selected in order to simulate seawater at 25% and 50%. Seeds were scored only once, at the end of the experiment (after a minimum of one month and a maximum of two months and a half from sowing). Non-germinated seeds were classified as imbibed or dead by the cut test.

Variability among populations

To test the effect of NaCl among populations, seeds of each site were incubated at 25°C in the dark, on 1% water agar with increasing NaCl solutions (0 mM, 125 mM and 250 mM), on the basis of the results achieved in previous experiments.

Following the same procedure used for previous tests carried out in the dark, seeds were scored only at the end of the experiment (after a minimum of one month and a maximum of two months and a half from sowing), and non-germinated seeds were classified as imbibed or dead by the cut test.

Data analysis

To analyse the germination responses of *C. maritima* to light, temperature and NaCl, we performed Generalized Linear Models (GLMs) with negative binomial error distribution and logit link function. Each model was performed on the percentages of germinated, imbibed and dead seeds as response variables, while predictors were selected according to the effect to be tested. In particular:

- (I) Light and temperature were set as predictors. The models were performed on the central Italy population;
- (II) Treatment (factor with three levels: Control, NaCl 125 mM and NaCl 250 mM), temperature and their interaction term (treatment × temperature) were set as predictors to test the effect of NaCl at different temperatures. The models were performed on the central Italy population;
- (III) Treatment (factor with three levels: Control, NaCl 125 mM and NaCl 250 mM), population (factor with three levels: central Italy, Sardinia, Mallorca) and their interaction term (treatment × population) were set as predictors to test the effect of NaCl, population and their interactions.

When necessary, a *post hoc* Tukey test was performed to investigate if germinated, imbibed and dead seeds differed between each other within temperature, treatments and populations. All analyses were performed in R (R Core Team 2016).

Results

Light and temperature requirements

Cakile maritima germinated at all tested temperatures and photoperiods. The photoinhibition index was Pi = 0.2, showing that the species was not strongly photoinhibited. However, germination percentage was always significantly higher in the dark (Table 1), showing a mean percentage of 57.8 \pm 14.8%, compared to 46.3 \pm 15.5% in the light. The highest germination percentages were observed at 25°C (mean \pm SD: 69.3 \pm 14.6% averaged by light and darkness; *P* < 0.05 by *post hoc* Tukey tests for each comparison between results at 25°C and the other temperatures).

Light and temperature did not affect seed mortality (Table 1). Imbibed seeds significantly increased with light exposure and decreased with temperature (Table 1; percentage of imbibed seeds averaged by temperatures: $34.1 \pm 17.7\%$ in the dark and $47.5 \pm 15.9\%$ in the light).

Interaction of NaCl and temperature

Germination percentage decreased under NaCl conditions at all temperatures (Table 2; Fig. 1). Germination percentage was on average reduced by 62% at NaCl 125 mM, and by 95% at NaCl 250 mM. The effect of NaCl was greater at high temperatures, with a 78% reduction at NaCl 125mM and 100% at NaCl 250mM, at 25°C. At 15°C, seed germination at NaCl 125mM was similar to the control (P > 0.05 by post hoc Tukey tests; Fig. 1). Seed mortality increased with temperature at both NaCl concentrations and showed the highest value at 25°C, where more than 50% of non-germinated seeds were dead (P < 0.05for any comparison as revealed by post hoc Tukey tests). At 10°C, seed mortality was not affected by NaCl (P > 0.05 by post hoc Tukey tests between control and NaCl at 125mM and 250mM; Fig. 1).

Germination responses of Mediterranean populations of Cakile maritima to light, salinity and...

 Table 1
 Summary tables of GLMs testing the influence of temperature and light on the percentage of germinated, imbibed and dead seeds for the population in central Italy

	Deviance Residuals							
Germinated seeds	Min	1Q	Median	3Q	Max			
	-2.95	-0.5437	-0.1566	0.5996	1.4987			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	3.6755	0.16543	22.218	< 0.0001 ***			
	Light	-0.23099	0.09816	-2.353	0.0186 *			
	Temperature	0.02157	0.00865	2.493	0.0127 *			
	(Dispersion parameter for Negative Binomial (8.9601) family taken to be 1)							
	Null deviance: 40.402 on 27 degrees of freedom							
	Residual deviance: 28.641 on 25 degrees of freedom							
	AIC: 231.99							
	Number of Fisher Scoring iterations: 1							
	Theta: 21.71							
	Std. Err.: 8.37							
	$2 \times $ log-likelihood: -223.995							
Imbibed seeds	Min	10	Median	30	Max			
	-4.0494	-0.7003	0.053	0.4484	2.0111			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	4.43702	0.3078	14.415	< 0.0001 ***			
	Light	0.36943	0.18397	2.008	0.044631 *			
	Temperature	-0.05497	0.01636	-3.359	0.000782 ***			
	(Dispersion parameter for Negative Binomial (8.9601) family taken to be 1)							
	Null deviance: 47.312 on 27 degrees of freedom							
	Residual deviance: 34.963 on 25 degrees of freedom							
	AIC: 249.43							
	Number of Fisher Scoring iterations: 1							
	Theta: 4.86							
	Std. Err.: 1.65							
	$2 \times \log$ -likelihood: -241.428							
Dead seeds	Min	10	Median	30	Max			
	-1.97065	-1.76258	-0.09966	0.56249	1.22992			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	1.01341	0.74493	1.36	0.174			
	Light	-0.10982	0.43884	-0.25	0.802			
	Temperature	0.05493	0.03889	1.413	0.158			
	(Dispersion parameter for Negative Binomial (8.9601) family taken to be 1)							
	Null deviance: 36.855 on 27 degrees of freedom							
	Residual deviance: 34.162 on 25 degrees of freedom							
	AIC: 175.87							
	Number of Fisher Scoring iterations: 1							
	Theta: 0.857							
	Std. Err.: 0.315							
	2× log-likelihood: -1	167.869						
	$2 \times $ log-likelihood: -167.869							

The intercept is darkness. *P*-values indicate significant differences from the intercept

Table 2 Summary tables of GLMs testing the influence of NaCl at different temperature on the percentage of germinated, imbibed and dead seeds for the population in central Italy

	Deviance Residuals:							
Germinated seeds	Min	1Q	Median	3Q	Max			
	-3.2643	-1.0158	-0.1141	0.2747	3.2685			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	3.71623	0.51248	7.251	4.12 ^{e-13} ***			
	Temperature	0.01836	0.02574	0.713	0.4757			
	NaCl 125 mM	-0.46939	0.7657	-0.613	0.53987			
	NaCl 250 mM	-0.14993	0.91605	-0.164	0.86999			
	NaCl 125 mM × Temperature	-0.02848	0.0403	-0.707	0.4798			
	NaCl 250 mM × Temperature	-0.184	0.05441	-3.382	0.00072 ***			
	(Dispersion parameter for Negative Binomial (2.3016) family taken to be 1)							
	Null deviance: 213.519 on 55 degrees of freedom							
	Residual deviance: 78.492 on 50 degrees of freedom							
	AIC: 442.83							
	Number of Fisher Scoring iterations: 1							
	Theta: 2 302							
	Std Em : 0.695							
	2× log-likelihood: -428 830							
Imbibad soads	20 log inkelillood. 120.000 Min	10	Median	30	Max			
inioioed seeds	-4 0804	-0.5776	-0.0185	0.416	2 4163			
	Coefficients:	Estimate	Std Frror	z value	2.4105 Pr(> t)			
	(Intercent)	5 00888	0 32345	15 764				
	Temperature	-0.0905	0.0166	-5.452	1 00 ^{e-08} ***			
	NaCl 125 mM	-0.28786	0.47005	-0.611	9.54105			
	NaCl 250 mM	-0.66238	0.47095	-1.411	0.15822			
	NaCl 125 mM × Tomporature	0.03201	0.02500	1.55	0.12104			
	NaCl 250 mM × Temperature	0.03891	0.02309	2.921	0.12104			
	EVALUATE: $1000 \text{ MM} \times 1000 \text{ mm}$							
	(Dispersion parameter for freedom) Null deviance: 127.277 on 55 degrees of freedom							
	Paridual deviance: 72/006 on 50 degrees of freedom							
	AIC: 497.37 Number of Fisher Secring iterations, 1							
Dead seeds	Number of risner Scoring iterations: 1							
	Std. Em. 1 (1							
	SIG. EII.: 1.01							
	2^ log-likelillood485.571	10	Madian	20	Ман			
	2.02661	IQ 0.70528	0.00525	3Q	2 20007			
	-5.05001	-0.70328	-0.00355	0.40156	2.3000/ Br(>(4))			
	(Justoment)	0.24952	Su. Error		FT(~ l)			
	(Intercept)	0.24832	0.03278	0.393	0.0943			
	Temperature	0.09838	0.03098	5.170	0.00149			
	NaCI 125 mM	0.91164	0.87903	1.037	0.29969			
	NaCi 250 mivi	2.02130	0.80187	3.042	0.00233			
	NaCl 125 mN × Temperature	0.01199	0.04503	0.266	0.79			
	NaCi 250 mNi × Temperature	-0.05682	0.04435	-1.281	0.20009			
	(Dispersion parameter for inegative Binomial (2.1052) family taken to be 1)							
	Public deviance, 154,637 on 53 degrees of freedom							
	Kesidual deviance: /5.5/3 on 50 degrees of freedom							
	AIU: 439.50							
	Number of Fisher Scoring iterations: 1							
	1 heta: 2.105							
	Std. Err.: 0.554							
	2× log-likelihood: -425.357							

The intercept is the control (NaCl = 0 mM). *P*-values indicate significant differences from the intercept. 'NaCl 125 mM' and 'NaCl 250 mM' represent the global influence of salinity at each concentration, averaged by temperature, while the interaction terms 'NaCl 125 mM \times Temperature' and 'NaCl 125 mM \times Temperature' represent the effect of salinity at each temperature

Signif. codes: 0 - '***', 0.001 - '**', 0.01 - '*', 0.05 - '.' 0.1 ''

Germination responses of Mediterranean populations of Cakile maritima to light, salinity and ...

Variability among populations

NaCl impaired the germination percentage in all populations, i.e. germination decreased as salinity increased (Table 3; Fig. 2). On average, germination percentage was reduced by 68% at NaCl 125 mM and by 81% at NaCl 250 mM as compared to germination in non-saline condition (control). Seed mortality increased by about 60% already at the lowest concentration of NaCl 125 mM with respect to control (P < 0.05 by *post hoc* Tukey test), while at NaCl 250 mM seed mortality was comparable to that observed at NaCl 125 mM (Fig. 2).

The population predictor had a significant overall effect on seed germination (Table 3; Fig. 2). In particular, seeds from Mallorca showed a significantly lower germination percentage than the other populations (11.3 \pm 11.9%, compared to 30.0 \pm 33.7% of central Italy and 46.7 \pm 31.1% of Sardinia; *P* < 0.05 by *post hoc* Tukey test for each comparison between populations), although non-germinated seeds were imbibed, therby apparently viable (35.3 \pm 24.4%). Seed mortality did not vary among populations (about 45% in all populations; *P* > 0.05 for any comparison by *post hoc* Tukey test).

The analysis of the interaction term (treatment × population) showed a different ability of seeds to tolerate salinity among populations (Table 3; Fig. 2). At NaCl 125 mM, seeds from Sardinia showed a higher germination percentage than the other two populations, with a value of $40.0 \pm 10.8\%$, compared to $16.3 \pm 8.5\%$ of central Italy, while seeds from Mallorca did not germinate. At NaCl 250 mM, only seeds from Sardinia germinated ($17.5 \pm 18.9\%$).

Discussion

Our research showed that *C. maritima* was able to germinate at different conditions of temperature, photoperiod and salinity. The best condition for germination was in the dark, at 25°C, under non-saline condition.

Cakile maritima has been described as highly sensitive to light which suppresses or delays germination (Barbour 1970; Thanos et al. 1991; Sacheti 1998; Carta et al. 2017). Photoinhibition is a common strategy in arid and seasonal climates, and in coastal habitats (Carta et al. 2017), to prevent seed germination at the substrate surface thereby protecting seeds and seedling from dessication (Thanos et al. 1991). In our study, although the germination percentage was significantly higher in the dark, we found a very low Pi value which, according to Carta et al. (2017), allows to define C. maritima as a weakly photoinhibited species. In line with the literature (Ignaciuk and Lee 1980; Baskin and Baskin 2014; Fernández-Pascual et al. 2017), we found that C. maritima is a warm-cued germination species, with higher germination percentage at high temperature, in the range of 20-25°C. Nevertheless, it showed a germination capacity at any tested temperature, without any pre-treatment (seed scarification or cold stratification). However, in some species, seeds stored under controlled conditions of temperature and humidity for a period longer than one month can germinate at a wider range of photoperiod and temperature than fresh seeds (Probert 2000; Finch-Savage et al. 2007). The weak photoinhibition, the ability to germinate at any tested temperature and the presence of imbibed nongerminated seeds detected at the end of germination test (under no stress condition) found in this study, suggest a possible positive effect of a period of after-ripening on the germination of C. maritima. In light of our results, the effect of after-ripening on this species should be further investigated in order to elucidate its role in germination.

NaCl decreased the germination percentage. This is consistent with other researches showing the saltsensitivity of C. maritima during seed germination (Debez et al. 2004, 2018; Megdiche et al. 2007; Ghars et al. 2009). High salinity inhibits and delays germination (Debez et al. 2018) generating unfavourable osmotic conditions which prevent seed imbibition (Ghars et al. 2009). However, several studies consistently report that moderate salt treatments inhibit germination without damaging the seeds which remain viable and able to resume germination upon stress release, with toxicity symptoms (i.e. increasing seed mortality) appearing only at severe salinity (in the range of 300–400 mM NaCl; Debez et al. 2004; Megdiche et al. 2007; Ghars et al. 2009). This would suggest osmotic constraints rather than toxicity of salinity and, most importantly, that C. maritima would be able to produce seeds able to tolerate high salinity levels, thereby remaining viable and germinate early in the spring, after winter rains (Debez et al. 2004; Davy et al. 2006; Ghars et al. 2009). However, as compared to non-saline conditions, we found increased seed mortality already at moderate concentration of NaCl (125 mM). The increased negative effect we detected could be a consequence of a long exposure to salinity, as suggested by Ghars et al. (2009).



Fig. 1 Seed germination and mortality (mean \pm SD) of *Cakile* maritima from the population in central Italy under increasing NaCl concentrations and at all tested temperatures. Different low-ercase letters indicate significant differences between NaCl

Indeed, non-germinated seeds exposed to NaCl were classified as viable in germination experiements that lasted for a maximum of two weeks (Megdiche et al. 2007; Ghars et al. 2009; Debez et al. 2004, 2018), while in our study the duration of the experiments had a minimum elapse of one month. Although our results were achieved in a laboratory, we cannot exclude that long exposure to salinity may represent a limiting factor in the field. Indeed, the marked seasonality of seed collection sites and C. maritima life cycle support this hypothesis, since germination normally occurs in the period with lower salinity levels in the substrate, i.e. in autumn and/or spring, after receiving adequate rainfall to leach out the salt (Davy et al. 2006; Contreras-Cruzado et al. 2017). Moreover, our results suggest that long aridity periods after seed dispersal may limit salt leaching thereby affecting the viability of seeds.

The interaction between salinity and temperature showed that seeds were more resistant to salinity at cool temperature $(10-15^{\circ}C)$ and that the negative effect of salinity increased with increasing temperature, a pattern also observed in other species (Santo et al. 2014, 2017; Delgado Fernández et al. 2016). In arid and semi-arid habitats, such as coastal habitats, soil salinization represents a limiting factor for species establishment and growth (Bui 2013; Parihar et al. 2015). Its negative effect on seed germination and viability when combined with high temperature can represent a further

concentrations under the same temperature according to a *post hoc* Tukey test. Different uppercase letters indicate significant differences between temperatures

selective force for species survival, and consequently for species distribution.

The response to salt stress also differed between populations. It has been reported that C. maritima has a great genetic diversity due to adaptation to different ecological conditions, and, consequently, its populations may have different optimal temperatures and photoperiods for germination (Debez et al. 2013; Belghith et al. 2018) and different levels of salt sensitivity. Differences in the germination response of C. maritima to NaCl have been mainly attributed to different climatic conditions of collection sites. In particular, it has been suggested that salt tolerance is controlled by the degree of aridity with most salt-tolerant populations found in the most arid sites (Megdiche et al. 2007; Ghars et al. 2009). In accordance with these findings, in our study the most salt-tolerant seeds were those from Sardinia, which is characterized by the longest aridity period. Correspondingly, seeds collected in Mallorca, which has the highest values of precipitation (especially in spring), were the lowest salt-tolerant. Because of the ameliorating effect of the sea on local climate, beach species tend to have a worldwide distribution and have been described as almost azonal in their occurrence (e.g. Wiedemann and Pickart 2004; Del Vecchio et al. 2018), i.e. as linked to non-climatic environmental stress factors or extreme soil conditions (Walter

Germination responses of Mediterranean populations of Cakile maritima to light, salinity and...

Table 3 Summary tables of GLMs testing the influence of NaCl and population on the percentage of germinated, imbibed and dead seeds

	Deviance Residuals:							
Germinated seeds	Min	1Q	Median	3Q	Max			
	-2.30771	-0.35459	-0.00006	0.0941	2.8455			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	4.3007	0.1769	24.312	< 0.0001 ***			
	NaCl 125 mM	-1.5126	0.2731	-5.539	< 0.0001 ***			
	NaCl 250 mM	-24.6033	7,770.9319	-0.003	0.9975			
	Sardinia	0.1121	0.2494	0.449	0.6531			
	Mallorca	-1.4385	0.2/11	-5.307	< 0.0001 ***			
	NaCi 125 mM × Sardinia	0.7887	0.3/3/	2.11	0.0348 *			
	NaCl 250 mM × Sardinia	23.0527	7,770.9319	0.003	0.9976			
	NaCl 125 mM × Mallorca	-21.6522	/,//0.9319	-0.003	0.9978			
	Ivaci 250 misi ∧ Nianorca 1.4365 10,989,7575 0.000 0.95 (Discrimentation of the Ninetic Discrimentation of the Ninetic Discrimentatio of the Ninetic Discrimentation of the Ninetic Di							
	(Dispersion parameter for Negative Binomial (8.9001) family taken to be 1) Null deviance: 441.799 on 35 degrees of freedom Residual deviance: 28.171 on 27 degrees of freedom AIC: 210.71							
	Number of Fisher Scoring iterations: 1							
	Theta: 8.96							
	Std. Err.: 3.97							
	2× log-likelihood: -190.712							
Imbibed seeds	Min	1Q	Median	3Q	Max			
	-2.53602	-0.55201	-0.09954	0.27273	2.17509			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	2.16905	0.40596	5.343	< 0.0001 ***			
	NaCl 125 mM	1.27297	0.55592	2.29	0.02203 *			
	NaCl 250 mM	1.71765	0.55333	3.104	0.00191 **			
	Sardinia	-0.55962	0.59249	-0.945	0.34491			
	Mallorca	1.74297	0.55321	3.151	0.00163 **			
	NaCl 125 mM × Sardinia	-0.71335	0.81246	-0.878	0.37994			
	NaCl 250 mM × Sardinia	0.07411	0.79811	0.093	0.92602			
	NaCl 125 mM × Mallorca	-1.49611	0.76991	-1.943	0.05199			
	NaCl 250 mM × Mallorca	-2.15616	0.76902	-2.804	0.00505 **			
	(Dispersion parameter for Negative Binomial (1.8351) family taken to be 1)							
	Null deviance: 80.653 on 35 degrees of freedom							
	Residual deviance: 49.613 on 27 degrees of freedom							
	AIC: 312.96							
	Number of Fisher Scoring iteration	ns: 1						
	Theta: 1.835							
	Std. Err.: 0.608							
	2× log-likelihood: -292.964							
Dead seeds	Min	1Q	Median	3Q	Max			
	-4.1482	-0.5781	0.1057	0.6702	1.3126			
	Coefficients:	Estimate	Std. Error	z value	Pr(> t)			
	(Intercept)	2.8622	0.1865	15.345	< 0.0001 ***			
	NaCl 125 mM	1.0986	0.2451	4.483	< 0.0001 ***			
	NaCl 250 mM	1.0745	0.2453	4.38	< 0.0001 ***			
	Sardinia	-0.3365	0.2744	-1.226	0.2201			
	Mallorca	0.619	0.251	2.466	0.0136 *			
	NaCl 125 mM × Sardinia	0.3124	0.3549	0.88	0.3788			
	NaCl 250 mM × Sardinia	0.3606	0.3549	1.016	0.3096			
	NaCl 125 mM × Mallorca	-0.4855	0.3361	-1.445	0.1485			
	NaCl 250 mM × Mallorca	-0.3399	0.3355	-1.013	0.311			
	(Dispersion parameter for Negative Binomial (12.1913) family taken to be 1)							
	Null deviance: 125.827 on 35 degrees of freedom							
	Residual deviance: 46.591 on 27 degrees of freedom							
	AIC: 311.83							
	Number of Fisher Scoring iterations: 1							
	Theta: 12.19							
	Std. Err.: 4.23							

Control (NaCl = 0 mM) and the central Italy population are the intercept. *P*-values indicate significant differences from the intercept Signif. codes: 0 - `***', 0.001 - `**', 0.05 - `.' 0.1 ``

Author's personal copy



Fig. 2 Proportion (mean values) of germinated, imbibed and dead seeds for each treatment and population

1985). However, our results, which confirm at a wider extent those of Megdiche et al. (2007) and Ghars et al. (2009), suggest that although being under the same macroclimate conditions, beach populations can be subjected to local drivers, such as aridity, that can influence population responses at a finer scale.

In conclusion, our findings support the view that *C. maritima* has a higher germination percentage in the dark and at high temperature. Moreover, we found that prolonged exposure to salinity, caused e.g. by extended aridity periods, may affect seed viability and that this effect is stronger at high temperatures. Our results are particularly challenging in the context of global climate change, especially in arid and semiarid regions of the world, which are likely to be highly sensitive to climate modification. From a conservation perspective, research on germination ecology, such as that presented here, may contribute to the development of restoration plans and monitoring programmes aimed towards habitat conservation. Moreover, investigations of germination

under varying environmental factors can provide important information for understanding patterns and processes in population dynamics, plant community ecology, and predicting the response of species to climate change (Jiménez-Alfaro et al. 2016; Pierce et al. 2018).

References

- Atia A, Smaoui A, Barhoumi Z, Abdelly C, Debez A (2011) Differential response to salinity and water deficit stress in *Polypogon monspeliensis* (L.) Desf. provenances during germination. *Pl Biol* 13:541–545
- Barbour MG (1970) Germination and early growth of the strand plant *Cakile maritima*. *Bull Torrey Bot Club* 97:13–22
- Baskin CC, Baskin JM (2014) Seeds: ecology, biogeography, and evolution of dormancy and germination. 2nd edition. Academic Press, San Diego
- Bazzichetto M, Malavasi M, Acosta ATR, Carranza ML (2016) How does dune morphology shape coastal EC habitats

Germination responses of Mediterranean populations of Cakile maritima to light, salinity and ...

occurrence? A remote sensing approach using airborne LiDAR on the Mediterranean coast. *Ecol Indicators* 71: 618–626

- Belghith I, Senkler J, Hildebrandt T, Abdelly C, Braun HP, Debez A (2018) Comparative analysis of salt-induced changes in the root proteome of two accessions of the halophyte *Cakile maritima*. *Pl Physiol Biochem* 130:20–29
- Ben Hamed-Laouti I, Arbelet-Bonnin D, De Bont L, Biligui B, Gakiere B, Abdelly C, Ben Hamed K, Bouteau F (2016) Comparison of NaCl-induced programmed cell death in the obligate halophyte *Cakile maritima* and the glycophyte *Arabidospis thaliana*. Pl Sci 247:49–59
- Bui EN (2013) Soil salinity: A neglected factor in plant ecology and biogeography. J Arid Environm 92:14–25
- Carta A, Skourti E, Mattana E, Vandelook F, Thanos CA (2017) Photoinhibition of seed germination: occurrence, ecology and phylogeny. Seed Sci Res 27:131–153
- Cogoni D, Fenu G, Bacchetta G (2013) Effects of timing of emergence and microhabitat conditions on the seedling performance of a coastal mediterranean plant. *Ecoscience* 20: 131–136
- Contreras-Cruzado I, Infante-Izquierdo MD, Márquez-García B, Hermoso-López V, Polo A, Nieva FJJ, Cartes-Barroso JB, Castillo JM, Muñoz-Rodríguez AF (2017) Relationships between spatio-temporal changes in the sedimentary environment and halophytes zonation in salt marshes. *Geoderma* 305:173–187
- Davy AJ, Scott R, Cordazzo CV (2006) Biological flora of the British Isles: Cakile maritima Scop. J Ecol 94:695–711
- Debez A, Ben Hamed K, Grignon C, Abdelly C (2004) Salinity effects on germination, growth, and seed production of the halophyte *Cakile maritima*. Pl & Soil 262:179–189
- Debez A, Saadaoui D, Ramani B, Ouerghi Z, Koyro HW, Huchzermeyer B, Abdelly C (2006) Leaf H+-ATPase activity and photosynthetic capacity of *Cakile maritima* under increasing salinity. *Environm Exp Bot* 57:285–295
- Debez A, Koyro HW, Grignon C, Abdelly C, Huchzermeyer B (2008) Relationship between the photosynthetic activity and the performance of *Cakile maritima* after long-term salt treatment. *Physiol Pl* 133:373–385
- Debez A, Braun HP, Pich A, Taamalli W, Koyro HW, Abdelly C, Huchzermeyer B (2012) Proteomic and physiological responses of the halophyte *Cakile maritima* to moderate salinity at the germinative and vegetative stages. *J Proteomics* 75: 5667–5694
- Debez A, Ben Rejeb K, Ghars MA, Gandour M, Megdiche W, Ben Hamed K, Ben Amor N, Brown SC, Savouré A, Abdelly C (2013) Ecophysiological and genomic analysis of salt tolerance of *Cakile maritima*. *Environm Exp Bot* 92:64–72
- Debez A, Belghith I, Pich A, Taamalli W, Abdelly C, Braun HP (2018) High salinity impacts germination of the halophyte *Cakile maritima* but primes seeds for rapid germination upon stress release. *Physiol Pl* 164:134–144
- Del Vecchio S, Mattana E, Acosta ATR, Bacchetta G (2012) Seed germination responses to varying environmental conditions and provenances in *Crucianella maritima* L., a threatened coastal species. *C R Biol* 335:26–31
- Del Vecchio S, Marba N, Acosta A, Vignolo C, Traveset A (2013) Effects of *Posidonia oceanica* beach-cast on germination, growth and nutrient uptake of coastal dune plants. *PLOS ONE* 8:e70607

- Del Vecchio S, Slaviero A, Fantinato E, Buffa G (2016) The use of plant community attributes to detect habitat quality in coastal environments. *AoB Plants* 8:plw040
- Del Vecchio S, Fantinato E, Janssen JAM, Bioret F, Acosta A, Prisco I, Tzonev R, Marcenò C, Rodwell J, Buffa G (2018) Biogeographic variability of coastal perennial grasslands at the European scale. *Appl Veg Sci* 21:312–321
- Delgado Fernández IC, Giménez Luque E, Gómez Mercado F, Pedrosa W (2016) Influence of temperature and salinity on the germination of *Limonium tabernense* Erben from Tabernas Desert (Almería, SE Spain). *Flora* 218:68–74
- El-Keblawy A, Al-Shamsi N (2008) Salinity, temperature and light affect seed germination of *Haloxylon salicornicum*, a common perennial shrub of the Arabian deserts. *Seed Sci Technol* 36:679–688
- FAO (2014) Genebank standards for plant genetic resources for food and agriculture. Rev. ed. Rome, Italy
- Fenu G, Carboni M, Acosta A, Bacchetta G (2013a) Environmental factors influencing coastal vegetation pattern: new insights from the Mediterranean basin. *Folia Geobot* 48: 493–508
- Fenu G, Cogoni D, Ulian T, Bacchetta G (2013b) The impact of human trampling on a threatened coastal Mediterranean plant: the case of *Anchusa littorea* Moris (Boraginaceae). *Flora* 208:104–110
- Fernández-Pascual E, Pérez-Arcoiza A, Alberto Prieto J, Díaz TE (2017) Environmental filtering drives the shape and breadth of the seed germination niche in coastal plant communities. *Ann Bot (Oxford)* 119:1169–1177
- Fick SE, Hijmans RJ (2017) Worldclim 2: new 1-km spatial resolution climate surfaces for global land areas. Int J Climatol 37:4302–4315
- Finch-Savage WE, Cadman CSC, Toorop PE, Lynn JR, Hilhorst HWM (2007) Seed dormancy release in Arabidopsis thaliana by dry after-ripening, low temperature, nitrate and light shows common quantitative patterns of gene expression directed by environmentally specific sensing, *Pl J* 51:60–78
- Geng XL, Boufadel MC, Jackson NL (2016) Evidence of salt accumulation in beach intertidal zone due to evaporation. *Sci Rep* 6, 31486
- Ghars MA, Debez A, Abdelly C (2009) Interaction between salinity and original habitat during germination of the annual seashore halophyte *Cakile maritima*. *Commun Soil Sci Pl Analysis* 40:3170–3180
- Gul B, Ansari R, Flowers TJ, Khan MA (2013) Germination strategies of halophyte seeds under salinity. *Environm Exp Bot* 92:4–18
- Houmani H, Corpas FJ (2016) Differential responses to saltinduced oxidative stress in three phylogenetically related plant species: *Arabidopsis thaliana* (glycophyte), *Thellungiella salsuginea* and *Cakile maritima* (halophytes). Involvement of ROS and NO in the control of K+/Na+ homeostasis. *AIMS Biophys* 3:380–397
- Huang ZY, Liu SS, Bradford KJ, Huxman TE, Venable DL (2016) The contribution of germination functional traits to population dynamics of a desert plant community. *Ecology* 97:250– 261
- Ignaciuk R, Lee JA (1980) The germination of four annual strandline species. *New Phytol* 84:581–591

Author's personal copy

- Jiménez-Alfaro B, Silveira FAO, Fidelis A, Poschlod P, Commander LE (2016) Seed germination traits can contribute better to plant community ecology. J Veg Sci 27:637–645
- Manzoor S, Hameed A, Khan MA, Gul B (2017) Seed germination ecology of a medicinal halophyte *Zygophyllum propinquum*: responses to abiotic factors. *Flora* 233:163–170
- Maun MA (2009) *The biology of coastal sandy dunes*. Oxford University Press, Oxford
- Megdiche W, Ben Amor N, Debez A, Hessini K, Ksouri R, Zuily-Fodil Y, Abdelly C (2007) Salt tolerance of the annual halophyte *Cakile maritima* as affected by the provenance and the developmental stage. *Acta Physiol Pl* 29:375–384
- Megdiche W, Hessini K, Gharbi F, Jaleel CA, Ksouri R, Abdelly C (2008) Photosynthesis and photosystem-2 efficiency of two salt-adapted halophytic seashore *Cakile maritima* ecotypes. *Photosynthetica* 46:410–419
- Muñoz-Rodríguez AF, Sanjosé I, Márquez-García B, Infante-Izquierdo MD, Polo-Ávila A, Nieva FJJ, Castillo JM (2017) Germination syndromes in response to salinity of Chenopodiaceae halophytes along the intertidal gradient. *Aquatic Bot* 139:48–56
- Murru V, Santo A, Gallo M, Cardona C, Boi M, Bacchetta G (2017) Comparative germination ecology and seedling growth of two Ibero-Levantine endemic species belonging to the *Silene mollissima* aggregate (Caryophyllaceae). *Flora* 227:10–17
- Oöi M, Aulk T, Whelan R (2004) Comparison of the cut and tetrazolium tests for assessing seed viability: a study using Australian native Leucopogon species. *Ecol Managem Restorat* 5:141–143
- Parihar P, Singh S, Singh R, Singh V, Prasad S (2015) Effect of salinity stress on plants and its tolerance strategies: a review. *Environm Sci Pollut Res* 22:4056–4075
- Pierce S, Spada A, Caporali E, Ceriani RM, Buffa G (2018) Enzymatic scarification of *Anacamptis morio* (Orchidaceae) seed facilitates lignin degradation, water uptake and germination. *Pl Biol* https://doi.org/10.1111/plb.12694
- Pinna MS, Mattana E, Cañadas EM, Bacchetta G (2014) Effects of pre-treatments and temperature on seed viability and germination of *Juniperus macrocarpa* Sm. C R Biol 337:338–344

- Probert RJ (2000) The role of temperature in the regulation of seed dormancy and germination. In Fenner M (Ed) Seeds: the ecology of regeneration in plant communities. CAB International, Wallingford, Oxon, UK, pp 261–292
- R Core Team (2016) *R: a language and environment for statistical computing. 3.3.*1. R Foundation for Statistical Computing, Vienna, Austria
- Ripley BS, Pammenter NW (2008) Physiological Characteristics of Coastal Dune Pioneer Species from the Eastern Cape, South Africa, in Relation to Stress and Disturbance. In *Martínez ML, Psuty NP (eds) Coastal Dunes. Ecological Studies*, vol 171. Springer, Berlin, Heidelberg, pp 137–154
- Sacheti, U (1998) Germination responses of some coastal dune plants of SE Australia. J Trop Ecol 39:243–253
- Saeed S, Gul B, Khan MA (2011) Comparative effects of NaCl and sea salt on seed germination of *Arthrocnemum indicum*. *Pakistan J Bot* 43:1091–1103
- Santo A, Mattana E, Hugot L, Spinosi P, Bacchetta G (2014) Seed germination and survival of the endangered psammophilous *Rouya polygama* (Apiaceae) in different light, temperature and NaCl conditions. *Seed Sci Res* 24:331–339
- Santo A, Mattana E, Frigau L, Marzo Pastor A, Picher Morelló MC, Bacchetta G (2017) Effects of NaCl stress on seed germination and seedling development of *Brassica insularis* Moris (Brassicaceae). *Pl Biol* 19:368–376
- Sevink J (1991) Soil development in the coastal dunes and its relation to climate. *Landscape Ecol* 6:49–56
- Silan G, Del Vecchio S, Fantinato E, Buffa G (2017) Habitat quality assessment through a multifaceted approach: the case of the habitat 2130* in Italy. *Pl Sociol* 54:13–22
- Thanos CA, Georghiou K, Douma DJ, Marangaki CJ (1991) Photoinhibition of seed germination in Mediterranean maritime plants. Ann Bot (Oxford) 68:469–475
- Walter H (1985) Vegetation of the Earth and ecological systems of the geo-biosphere. Ed. 3, Springer, Berlin
- Wiedemann A, Pickart A (2004) Temperate zone coastal dunes. In Martínez ML, Psuty NP (eds) Coastal dunes: ecology and conservation. Springer-Verlag, Berlin, pp 53–63